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-67-



Albumin(BCP ;2 )=3. Ogm/dl 2 7 A& 105 # & &~
24 PR -

PRIRER i
Albumin(BCP) =3. Ogm/d1 7 4~ +*

‘é:p 2L > L

wl k

120.00%
100.00%

80.00% —

60.00%

40.00%

20.00%

0.00% \I

1044F 1054F

-]t —W=ItE A =eFE -—-HE &Et
=R E A W P B T B B LW £+
104 £ | 85.53%(96.15% [ 90.48% | 81.72% - 77.78% | 86.44%
105 £ |186.93% | 83.33% [ 90.88% - - - 88.41%

-68-




(z ) & &9

Albumin £ # % : 105 # & R st By H &R T L
%9035 49 ALbumin-% # %
100.20%
100.00% % X
99.80%
99.60% -
i %
99.20%
e
99.00%
98.80% |
98.60%
98.40%
98.20% , .
1044 1054F
—— R =G E T HITER B i FL B =
+ B FE?P S BRFR|(EFFR|AED T £
104 4 | 99.72% | 99.63% | 100.00% | 100.00% | 99.69%
1054 | 99.28% | 98.92% | 100.00% | 100.00% | 99.17%
Albumin(BCG - )=3.5gn/dl z | A~
REE 75%’ Bp o
"R %573 47 Albumin(BCG) =3.5gm/dIf 4 +*
100.00%
98.00% ==
96.00% S
94.00%
92.00%
90.00% -3
88.00% —!= ———J
86.00%
84.00%
82.00%
80.00% T ]
1044F. 1054F
——EE ), —m=lEI HITBEE [ et ELG ] it 5

R FEY o RRFRERFR[ERD| &3
104 4F | 86.88% | 88.54% | 93.41% | 95.52% | 87.93%
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